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VEYAY 10000 2652 2135 709 401 408
164F | 100. 4 -0.2| 101.3 1.7] 100.5 -1.9| 98.3 -0.5| 101.6 -1.6| 99.7 -0.6
174 | 100.0 -0.4| 100.0 -1. 3| 100.0 -0.5( 100.0 1.8} 100.0 -1.6| 100.0 0.3
1845 | 99.6 -0.4| 98.7 -1.3| 99.5 -0.5| 104.4 4.4| 97.6 -2.4| 102.2 2.2
194F 99.4 -0.2| 98.9 0.2 97.8 -1.7| 106.0 1.5 95.9 -1.7| 106. 2 3.9
204F | 101. 2 1.8] 102.1 3.2| 98.2 0.4| 114.5 8.0 96.1 0.2| 105.9 -0.3
214F 99.9 -1. 3| 102. 4 0.3] 98.2 0.0[ 109.5 -4.4| 93.5 -2.7| 108. 6 2.5
21/6 | 100.0 -0.1 -1.8| 102.7 -0.1 0.0 97.9 0.0 -0.1| 109.4 -0.5 -5.6| 94.2 -1.4 -0.9| 109.7 0.3 2.4
7 99.6 -0.4 -2.8| 101.4 -1.3 -2.1| 97.9 0.0 -0.3| 108.3 -1.0 -9.1| 93.6 -0.6 -3.2| 106.4 -3.0 0.9
8 | 100.1 0.5 -2.6/103.7 2.3 -0.5| 97.7 -0.2 -0.2| 108.0 -0.3 -10.3| 91.2 -2.6 -2.7| 105.9 -0.5 2.8
9 99.8 -0.3 -2.3| 102.0 -1.6 -1.1| 97.9 0.2 0.0/ 107.5 -0.5 -9.4| 92.2 1.1 -2.9| 113.3 7.0 4.4
10 | 99.5 -0.3 -2.3100.8 -1.2 -0.7| 97.8 -0.1 -1.4| 107.0 -0.5 -9.0| 90.6 -1.7 -5.7| 113.9 0.5 4.1
11 99.5 0.0 -1.9/ 100.9 0.1 -2.2| 97.8 0.0 -1.3/ 106.9 -0.1 -5.8| 90.7 0.1 -4.4| 114.3 0.4 2.6
12 | 99.5 0.0 -1.4| 101.6 0.7 -2.3| 97.8 0.0 -1.3] 107.2 0.3 -3.2| 89.8 -1.0 -6.6| 113.2 -1.0 2.8
22/1 | 99.1 -0.4 -1.3| 101.5 -0.1 -2.6| 97.3 -0.5 -1.7| 107.5 0.3 -4.7| 87.7 -2.3 -8.6| 108.7 -4.0 6.6
2 98.7 0.4 -1.5| 101.5 0.0 -1.6| 96.0 -1.3 -3.1| 108.5 0.9 -3.8| 88.4 0.8 -8.5/ 103.4 -4.9 1.2
3 98.7 0.0 -1.6/ 101.0 -0.5 -1.5| 96.0 0.0 -3.0/ 108.8 0.3 -3.0| 86.6 -2.0-10.4| 106.3 2.8 1.6
4 98.4 -0.3 -1.8/ 101.1 0.1 -1.7| 96.0 0.0 -2.1| 108.4 -0.4 -3.5| 87.9 1.5 -7.6/ 109.0 2.5 0.2
5 98.6 0.2 -1.5/100.9 -0.2 -1.8| 95.9 -0.1 -2.0/ 109.5 1.0 -0.5| 88.4 0.6 -7.4| 111.1 1.9 1.6
6 98.8 0.2 -1.2| 101.6 0.7 -1.1| 95.7 -0.2 -2.2| 109.7 0.2 0.3 89.3 1.0 -5.2| 112.0 0.8 2.1
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A} 445 1474 210 959 607
164 | 101.3 -0.3| 99.4 0.1f 99.3 0.1f 101.0 -1.0| 100. 3 0.8
174E | 100.0 -1.3| 100.0 0.6[ 100.0 0.7| 100.0 -1.0| 100.0 -0.3
184F 99. 6 -0.4 99.9 -0.1| 100.7 0.7 98.7 -1.3| 97.7 -2.3
1948 | 99.3 -0.3| 99.9 0.0[ 101.2 0.5| 97.5 -1.2| 98.1 0.4
204F 99.0 -0. 3| 102.5 2.6| 101.6 0.4f 97.0 -0.5| 98.1 0.0
2145 | 97.8 -1.2| 97.7 -4.7| 102. 1 0.5| 94.7 -2.4 97.2 -0.9
21/6 | 96.6 -1.0 -2.7| 97.7 0.3 -7.0/ 102.1 0.0 0.4| 94.6 -0.6 -2.4| 97.1 0.0 -0.9
7 97.8 1.2 -1.4| 98.5 0.8 -7.1| 102.1 0.0 0.4| 94.7 0.1 -2.5| 97.4 0.3 -0.4
8 97.3 -0.5 -1.7 98.6 0.1 -7.7[ 102.1 0.0 0.4 96.0 1.4 -2.8/ 97.1 -0.3 -0.7
9 97.9 0.6 -1.1| 98.1 -0.5 -6.6| 102.1 0.0 0.4| 94.6 -1.5 -2.5| 97.5 0.4 -0.7
10 97.7 -0.2 -1.4| 99.0 0.9 -4.1| 102.1 0.0 0.4f 94.4 -0.2 -3.1] 97.1 -0.4 -0.8
11 97.8 0.1 -1.3| 98.7 -0.3 -1.2| 102.1 0.0 0.4] 94.3 -0.1 -2.4| 97.1 0.0 -1.0
12 97.3 -0.5 -0.5| 99.1 0.4 2.3] 102.1 0.0 0.4 92.6 -1.8 -3.4] 96.6 -0.5 -1.1
22/1 97.3 0.0 -1.4| 99.0 -0.1 3.4| 102. 1 0.0 0.4 92.5 -0.1 -2.4f 96.7 .1 -1.0
2 97.8 0.5 -0.9| 99.2 0.2 3.0/ 102.1 0.0 0.1| 92.1 -0.4 -2.6| 96.7 0.0 -0.8
3 97.1 -0.7 -1.5| 99.4 0.2 2.6] 102.1 0.0 0.1 93.1 1.1 -2.0f 97.0 .3 0.2
4 98.5 1.4 1.3] 99.8 0.4 3.1 73.8-27.7 -27.7| 93.2 0.1 -2.2| 96.9 -0.1 0.0
5 97.9 -0.6 0.3| 100.5 0.7 3.2 73.7 -0.1-27.8] 92.9 -0.3 -2.4| 96.9 .0 0.2
6 98.2 0.3 1.7/ 100.4 -0.1 2.8 73.7 0.0 -27.8| 92.8 -0.1 -1.9] 97.1 0.2 0.0




